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H% of f300 « ?
20% of ? =$50
? /oot$40 a 18
25% of 1 mi. = ?

OBAOED ABITHMETIO.

* a.

? ^J ^' diminished by IO5S of itself eo^ab W ?

-t. What did ll^ 1:;S ^ ™ * "' "^' "' ""^
». Wliatdatei«8mo.fromto^)aT' 8 mn ikj. .

20 ? 9 mo. 18 da. from NovemWMV ""^ '«^ 1^ Septemter

w^tdKrifr^'rr.r.^r*-^"'-'^- -
iao^s?^:-3^r ^rntTa,:i

^""'^
" •"•^ -

14 B^?* ^"'^ ''^°""°« » «"* '"' «»•• Cost?

^tiiTimZizr '-' *^ •" -' -. I >«' 20^.

25": "^Sr^e^tf~ " "^^ ""--' -"O" »^ Of

IR John is 18 years old, and his brother James is IB „»... uJohn's age is what per cent greater than JaTrt? IC^,
''•

« »hat per cent less than John's ' «» harness? James's age

premi^TVye'^r '" ^'^ ** ^'^ " '^- ^ « «"«

wafhis^eTpTtaU™'
'"' '"'' "' "" ""''"^' "^ »^««» >»"• What

for'2 yr' fm^?
°' '*5i a year, what is the interest of »2000


